INPAEHE R TEFA

1E F fm KB (every

TC)

2H B FE fG(Tension)

3E & £ (NBFZRHA—F)

4 4 1L B (FUTURE—ONE)

5fk H X 1 (F¥517TC)

6JI Jt F EH OFULZEBRE

14 n B (Four Clover)

I NI S 1% & (EkEE)

otk ¥ B K EUT=REIE

10 H 1% EH (F7¥31TC)

nE B 2 B (Learn to tennis®%h)

2K # & & TVEZERE

BHFBE F — EB(Tension)

1ME B B (BEEOAYILTZRY S D)

5H 0O E B @UTF=xEE)

6% H &l R E(sTC)

175 3 B B (HIROT=ZRIS>=v%)
INEAFEEDTEFB

8 B K B KHFLYSR—LT=RI5T)

v & H#H B (FX>1TC)

2010 {E R T LZEDRE)

8 H B OB KNBFZRA-F)

22 K 1B (CEHIEENER)

23 M W 3 @BEARTZRARI—IL)

24p IR 2 T GENE)

BXK FH R K @UT=RER

268 8 BB {“(Tension)

2201l B K B (Fa-J45—2aTC)

28 B % il (EXTS)

2987 i T E (DT ULNEERRER)

30 /7 Il 2 B (FUTURE—-ONE)

31 & BE (BBHARTZRARY—IL)

2% ) tt E (Learn to tennisE#®)

B B W FVOSIERTFIRA-TY)

6 4

E31EBLS1=7F=—AKE
20197721
MarimTr=—Xa—+

63
60
75 60
60
63
64
BF WA
76 (4)
63
60
62
6 1
60
60
60
W. O
63
63
6 1
6 1
60
75
g s
62
60
6 1
60
60
60
60
60



INEAEELZF
13& X I
2@ A 4
3E M ®
4l O =
5/ H S
6 & [ &
1k & g
8 K B &
SR TR N 173
0% §k F
LA TR N &
1248 A 2]
13 K E3
48| B E3
15F K ES
1615 3 &
7TH H e
18 Eﬁ i%

19 8% fit]
20 H %
21 | th

& (5RE V)
bye
¥ BUT=-REH)
X (FTa-J145—2aT0C)
B (sTOC)
bye
bye
Fl (ALEHRT=ZRARY—)L)
P (5REY )
bye
(73 1TC)

M (T L ZREBKE)

W (Four Clover)
bye

I (Tension)

Z= (NBF=ZRA—F)
bye
bye

I (BEHRT=ZRARY—IL)

¥ BEOAMVILTF=ZRY S D)

G (sTC)
bye
K (NBT=ZRA—T)
g (= F5HTA)
bye
bye
FI (GSH+J)
1& (T-Step)
#® (F7¥317TC)
bye
B (7T ZREBRER)

E31EBLUS1I=7TF=ARKE
2019/7/21
THyigF=—Xa—

61
6 2
60
6 1
6 2
64
63
6 4
61
60
Ex &
6 3
Not Played
W. O
7 6(3)
60
6 3
60
60
64
W. O




INES-6EEFEFA

1 ch

2 BB
3 th
4 Bk
5%
6 K
11
8 ik
9 B
10 2%
NN=
12 3
13 &
14 1]
15 1%
16 1%
17 &
18 #5
19 &
20 1y
21 18
22 B
23 {&
24 &
25 1k
26 T
27 §E
28 &
29 &

30 1Ly

n

H

i
£7
a
5
N
&

)

R HE R &R N

MR

R

Pt

&

ll'ﬁ

r;m;

=

2=
JiL

m &

&

S

E2)

BF RN

B (every TC)
bye
Bl NPOHBHRAR—YS 5 D)
(EXTS)
(EXTS)
(sTC)
(FBHRT AR —)L)
B (Tension)
K (OFVEZFEBE)
ER (GBlLT =R EH)
*Z (EAXTS)
F0 (FUTURE-ONE)
= (BEEREE)
{= (T-Step)

M\ﬂ

B

N (Fa—J4145—22TC)
#fh (MRAHYH Y OX)
B (BEHRT AR —IL)
Fk (Four Clover)
& (EXRTS)
B (Scratch)
H (Learn to tennisE %)
£ (EXTS)
BR (7L R bFa—R})
B (®™F L ZEBRE)
R @7X70—F)
AN @BUTF=XEEH)
A (EIKEE)
FE(EXRTS)
Bl (F2a—7J45—>aTC)
Bt (Tips)

bye
(T UZREBKER)

EI31EFBEUC21=2FTAKE

2019/7/21
THyigF=—Xa—

6 0
76(2)
6 1
6 3
60
60
63
W. O
6 0
62
6 2
61
. 61
76(4)
FH  E
63
6 0
6 0
61
76(1)
63
60
60
6 4
6 0
6 0
6 2
62
6 4
60



INES-6EAERFB

31 K

32 /N
33 A
34 B3
35 %
36 Bk
37 &
38 [
39 jth
40 7t

_Iéj_

41 =

a4 (R
45 K
46 =
41 FR
48 &
49 £
50 {f
51 &
52 B%
53 {E
54
55 £
56 Ly
57 1L
58 B
59 3A]
60 [E
61 i

IS

.
&

di H H H

H

H

15

m -~
W%W#ﬂliﬁ\eﬁ%

W

1
14

0N
0N

&

= s

i

il GRLT=—XEE)
bye
B (7L=r9357)
® (EXTS)
FE (EAXTS)
XK (Four Clover)
NPOHBMRKR—Y Y 5 T)
(UP. Set)

==

1
1

==

B (KfnA Lo ShR—LT=RH357)
H (74LRXFa—2})

Bt (MRAHYH > ORX)
 (AEARTZRARI—IL)
E (T WLEFEBRE)
W (Fa—"J45—2aTC)
& (EARTS)
E (T-Step)
E UIR/MER)

ER (T-Step)

# (EXRTS)

# (Learn to tennis22h)
& GELT=XEE)

g (Fa—Js5—>a2TC)
£ (EXTS)

(BEEKEE)

(EXRTS)

(GSH+J)

& & 40

(MRAHYH o AR)
(BIEHRTZARXT—IL)
(sTC)

(NPOH BT RKR—YH 5 D)
(FUTURE-ONE)

XK(Tension)

7 H

% O

E31ERUD2=7T_AXE

2019/7/21
Mrmr=—Xa—Fk

6 0
6 3
6 0
W. O
6 0
6 0
6 1
6 2
6 0
6 3
6 0
6 3
6 0
6 0
e KX
62
62
6 1
61
6 0
6 1
6 0
6 0
62
63
76 (5)
62
6 0
6 4
6 0
6 0




INELOEFEE LT
1E H 2]
23k K x
3 H a 4
4R H £
5 1% =
6F B £
T W ]
s8xk B &
orf 1R 53
K R ® A
1R g
12 #k Z
13H M7 73
1458 BF gt
5 K T
16 B b=
17 #& e
18t E k5
19&E K &
20 K % &
215k H 52
22 7 o)

23 [ ) &
2445 I &
BE® B X
26 5F M Yy oy
21 H = =
8K 15 o

Ml (GSH+J)
bye
% (MRAHH >4 0OR)
F BLUT=-REE)
3 (BUTF=REE)
12 (Learn to tennisE2)
7h (EEkEE)
K (Four Clover)
2 (FUTURE-ONE)

>t

H

bye
7 (BEEREE)
(a7x%x7U—F)
(Scratch)
(BIEHRT =AY —)L)
B (Four Clover)

B W oH

X (7¥31T7C)
(FUTURE-ONE)
BBEAAYILT=ZRI S D)
ZE (Learn to tennisZE2t)

¥t

¥l (Tension)

£ (IRNER)

FE (BEHRT=RARY—)L)
bye

F BILT=XEE)

EF BLUT=REE)

¥ (Learn to tennisE#)

Zl (Four Clover)

3 (PROGRESS)

o (sTC)

+ WMRAHH - 0OR)
bye

P (EHEE)

EI1EBUS1=7TF=RKE
20197721
MarimTr=—Xa—+

60
W. O
6 4
60
60
60
60
64
W. O
6 4
W. O
60
61
RIE  HP
64
60
61
60
61
75
62
60
60
61
60
60
61
60




